ALGEBRA I:  Pre-Test

For questions 1-6, use the following list to match the numbers to their classification.  Each word can only be used once.  
Whole number, Composite number, Rational number, Natural/Counting number, Irrational number, Imaginary, Prime number
1.
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 =  _____________________

2.
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 = _______________________

3.
1 = ________________________

4.
9 = _______________________

5.
0 = ________________________

6.
 23 = ______________________










(6 points)
7.
Match the property to the equation in which it is illustrated (each can only be used once):

	Equations
	Properties

	
	

	
	(a) Commutative of Multiplication

	
	(b) Associative of Addition

	(i)    8 × ⅛ = 1
	(c) Closure

	(ii)   (7 + 4) + 4 = 7 + (4 + 4)
	(d) Reflexive property

	(iii)   -2.1 × 1 = -2.1
	(e) Commutative of Addition

	(iv)   8 + 3.4 = 3.4 + 8 
	(f) Associative of Multiplication

	(v)   2•⅞ • (-⅝ )= -⅝ •2• ⅞  
	(g) Identity of Addition

	(vi)   p = r, and q = s, then p = s 
	(h) Inverse of Multiplication

	(vii)  -8.2 + 8.2 = 0
	(j) Density property

	(viii)  -x + 0 = -x
	(k) Inverse of Addition

	
	(m) Identity of Multiplication

	
	(n) Transitive Property of Equality

	    
	(p) Distributive Property

	
	(q) There is no such property












(8 points)
8.
(a)
Simplify:  -¼(20 – 12t) – 8t

(b)
Name the property used in question 8(a).


(3 points)
9.
Are the odd numbers closed under multiplication?  Justify your answer.    











(2 points)
10.
To rent a car, one must first pay a $100 deposit.  The renter then has to pay a rate 
of $10 per day the plus $2 per mile.  (a) Write an algebraic expression for the total 

cost to rent a car if it is rented for d days and driven for m miles.  (b) Calculate the cost to a renter who rents a car for 2 days and for 50 miles.     
(1 point)
Solutions
1.
Rational

2.
Irrational

3.
Natural

4.
Composite

5.
Whole

6.
Prime

7.
i.
H
Inverse Property of Multiplication


ii.
B
Associative Property of Addition


iii.
M
Identity Property of Multiplication


iv.
E
Commutative Property of Addition


v.
A
Commutative Property of Multiplication


vi.
Q
There is no such property


vii.
K
Inverse Property of Addition


viii.
G
Identity Property of Addition

8.
a.
-5 – 5t

b.
Distributive property

9.
The odd numbers are closed under multiplication, because whenever two odd numbers are multiplied the result is odd.

10.
Total Cost = 100 + 10d + 2m; $220

